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QUESTION 1

From an IT perspective, what is the primary goal of moving to SOA? 

A. Make IT more accountable 

B. Increase the flexibility of IT 

C. Technology and platform independence 

D. Reduce short-term development and maintenance costs 

Correct Answer: B 

 

QUESTION 2

Failure to adopt SOA will result in which outcome? 

A. Automation of document processing will be difficult. 

B. Extremely high volume, synchronous, real-time transactions will occur. 

C. Integration costs continue to grow without being offset by new business opportunities. 

D. IT budget will increase to cover the cost of additional governance and development activities. 

Correct Answer: C 

 

QUESTION 3

What is made more difficult by moving to SOA? 

A. Outsourcing of business functions. 

B. Ensuring Quality of Service (QoS) objectives are met. 

C. Changing business processes to meet government regulations. 

D. Providing a role-based portal for employees, partners and customers. 

Correct Answer: B 

 

QUESTION 4

What is a key difference between a component and a service? 

A. A service is deployed once and a component is deployed many times. 

B. A component is deployed once and a service is deployed many times. 
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C. A component has an interface and a service implements the interface. 

D. A service has an interface and a component implements the interface. 

E. A service does not have a well-defined interface and a component does. 

Correct Answer: D 

 

QUESTION 5

Which people, organizational or technology factors negatively impact the adoption of SOA? 

A. Putting funding mechanisms in place to encourage reuse 

B. Agreeing on policies for service reuse across lines of business 

C. Planning to perform a complete overhaul of all business processes 

D. Defining additional capabilities required, such as upgrades to the IT infrastructure 

Correct Answer: C 
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